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                                                                      Integrarea  directă 

න ݔ݀ = ݔ + ࣷ 1.  න  ݔ݀ 3

න ݔ݀ ܽ = ܽ ∙ ݔ + ࣷ , ܽ ∈ ℝ 2.  න  ݔ݀ 2݈݊

 3.  න(ܽ݊݅ݏܿݎ ݔ + ݏ݋ܿܿݎܽ  ݔ݀ (ݔ

න ݔ௔݀ݔ =
௔ାଵݔ

ܽ + 1 + ࣷ , ܽ ∈ ℝ\{−1} 1.  න  ݔ݀ ݔ

 2.  න  ݔ݀ ݔ√

 3.  න
1

ݔ√
 ݔ݀ 

 4.  න  ݔ݀ ݔ√ݔ

 5.  න
1

ଶݔ  ݔ݀ 

 6.  න
ଷݔ + 1

ଶݔ  ݔ݀ 

 7.  න(ݔ + 2)ଵ଴ ݀ݔ 

න
1
ݔ ݔ݀  = |ݔ|݈݊ + ࣷ  

න
1

ݔܽ + ܾ ݔ݀  =
1
ܽ ݔܽ|݈݊ + ܾ| + ࣷ, ܽ ∈ ℝ∗ 1.  න

1
ݔ − 1  ݔ݀ 

 2.  න
1

ݔ3 + 5  ݔ݀ 

 3.  න
1

ݔ) − ݔ)(1 + 1)  ݔ݀ 

 4.  න
ଷݔ

ݔ − 1  ݔ݀ 

න ݁௫ ݔ݀  = ݁௫ + ࣷ  

න ݁ି௫ ݔ݀  = −݁ି௫ + ࣷ  

න ܽ௫ ݔ݀  =
ܽ௫

݈݊ ܽ + ࣷ , ܽ ∈ (0, ∞)\{1} 1.  න 5௫    ݔ݀ 

 2.  න
5௫ − 3௫

2௫  ݔ݀ 

 3.  න ݁ఈ௫ ݀ݔ  , ߙ ∈ ℝ∗ 

න
1

ଶݔ + ܽଶ ݔ݀  =
1
ܽ ݃ݐܿݎܽ

ݔ
ܽ + ࣷ, ܽ ∈ ℝ∗ 1.  න

1
ଶݔ + 4  ݔ݀ 

 2.  න
1

ଶݔ4 + 9  ݔ݀ 

 3.  න
1

ଶݔ) + ଶݔ)(1 + 2)  ݔ݀ 
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න
1

ଶݔ − ܽଶ ݔ݀  =
1

2ܽ ݈݊ ቚ
ݔ − ܽ
ݔ + ܽ

ቚ + ࣷ, ܽ ∈ ℝ∗ 1.  න
1

ଶݔ − 4  ݔ݀ 

 2.  න
1

ଶݔ4 − 1  ݔ݀ 

 3.  න
1

ଶݔ) − ଶݔ)(1 − 2)  ݔ݀ 

 4.  න
ଶݔ

ଶݔ − 4  ݔ݀ 

න
ݔ

ଶݔ + ܽଶ ݔ݀  =
1
2 ଶݔ)݈݊ + ܽଶ) + ࣷ, ܽ ∈ ℝ∗ න

ݔ
ଶݔ + 3  ݔ݀ 

න
ݔ

ଶݔ − ܽଶ ݔ݀  =
1
2 ଶݔ|݈݊ − ܽଶ| + ࣷ, ܽ ∈ ℝ∗ න

ݔ
ଶݔ − 4  ݔ݀ 

න
1

ଶݔ√ + ܽଶ
ݔ݀  = ݈݊ ቀݔ + ඥݔଶ + ܽଶቁ + ࣷ, ܽ ∈ ℝ∗ න

1
ଶݔ√ + 4

 ݔ݀ 

න
1

ଶݔ√ − ܽଶ
ݔ݀  = ݈݊ ቚݔ + ඥݔଶ − ܽଶቚ + ࣷ, ܽ ∈ ℝ∗ 1.  න

1
ଶݔ√ − 3

 ݔ݀ 

 2.  න
ଶݔ√ − 3 − ଶݔ√ + 3

ସݔ√ − 9
 ݔ݀ 

න
1

√ܽଶ − ଶݔ
ݔ݀  = ݊݅ݏܿݎܽ

ݔ
ܽ + ࣷ, ܽ ∈ ℝ∗ 1.  න

1
√25 − ଶݔ

 ݔ݀ 

 2.  න
1

√1 − ଶݔ25
 ݔ݀ 

න
ݔ

ଶݔ√ + ܽଶ
ݔ݀  = ඥݔଶ + ܽଶ + ࣷ, ܽ ∈ ℝ∗ න

ݔ
ଶݔ√ + 5

 ݔ݀ 

න
ݔ

ଶݔ√ − ܽଶ
ݔ݀  = ඥݔଶ − ܽଶ + ࣷ, ܽ ∈ ℝ∗ න

ݔ
ଶݔ√ − 4

 ݔ݀ 

න
ݔ

√ܽଶ − ଶݔ
ݔ݀  = −ඥܽଶ − ଶݔ + ࣷ, ܽ ∈ ℝ∗ න

ݔ
√3 − ଶݔ

 ݔ݀ 

න ݔ݀ ݔ݊݅ݏ = ݔݏ݋ܿ− + ࣷ  

න ݔ݀ ݔߙ݊݅ݏ = −
ݔߙݏ݋ܿ

ߙ + ࣷ , ߙ ∈ ℝ∗ 1.  න  ݔ݀ ݔ3݊݅ݏ

 2.  න ݔ݊݅ݏ ∙  ݔ݀ ݔݏ݋ܿ

න ݔ݀ ݔݏ݋ܿ = ݔ݊݅ݏ + ࣷ  

න ݔ݀ ݔߙݏ݋ܿ =
ݔߙ݊݅ݏ

ߙ + ࣷ , ߙ ∈ ℝ∗ න  ݔ݀ ݔ7ݏ݋ܿ

න ݔ݀ ݔ݃ݐ = |ݔݏ݋ܿ|݈݊− + ࣷ  

න ݔ݀ ݔ݃ݐܿ = |ݔ݊݅ݏ|݈݊ + ࣷ  

න
1

ݔଶݏ݋ܿ ݔ݀  = ݔ݃ݐ + ࣷ න(݃ݐଶݔ + ݔ݀ (1 = ݔ݃ݐ + ࣷ 

න
1

ݔଶ݊݅ݏ ݔ݀  = ݔ݃ݐܿ− + ࣷ න
1

ݔଶ݊݅ݏ ∙ ݔଶݏ݋ܿ  ݔ݀ 
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